SI4EELR 4H F5t SH4FESR 58 #5t SF145E6 H 6 H FA5t

# W B = XA L M= XETELE M= XETELE M= XATELE = XATELE M= XETELE

kg % kg % kg % kg % kg % kg %
BRI L RNL 19,5655 114.7 19,555 114.7
AR O—X/\ L 57,833 98.8 57,833 98.8
BB IIE —I\L 0 0.0 0 0.0
N E 77,388 101.8 77,388 101.8
BRAO=7Y—t— 906 | 12,9429 906 | 12,9429
BREIZIITIE)—E—D 9,613 293.6 9,613 293.6
BRI F—)—— 2,060,975 89.7 2,060,975 89.7
N E 2,071,494 90.0 2,071,494 90.0
BHEAR—> 63,923 112.9 63,923 112.9
BRO—RR—a 0f ——— of ———-
B ag —~_A—ay 551 | ———— 551 | ————
N E 64,474 113.8 64,474 113.8
& &t 2,213,356 91.0 2,213,356 91.0




SHAETR IGES 48 A 8H #3 SH4E9H 98 A&t
2 A H = AT L = X ETELE X AL = X ATELE = X AT L = X ETELE
kg % kg % kg % kg % kg % kg %
BRI L RNL

M O—R/\Ls

R AILE— L

&t

BRAO=7Y—t—

BHEISUIINN)—E—D

BE2AFT—V—t—

gt

BEA~A—a

ARA—RARN—TY

B aF—~A—y

N E

& &t




SH44E10R 108 Bt SH4EI11R 118 85t 45128 128 BEt
2 A H = X ATEE L M= X AT L M= X AT L M= X AT = XA L M= XA L
kg % kg % kg % kg % kg % kg %
BRI L RNL

M O—R/\Ls

R AILE— L

&t

BRAO=7Y—t—

BHEISUIINN)—E—D

BE2AFT—V—t—

gt

BEA~A—a

ARA—RARN—TY

B aF—~A—y

N E

& &t




SH5E1A ZES: SH5E2R A ES! SH5E3H 3HREt
2 = SR L # = SETELE # = SEIELE # = SETELE # = STRIELE # = STRIE L
kg % kg % kg % kg % kg % kg %

B L RNL
MO —R/\Ls
R AILE— L
N B
BRAO=7Y—t—
BRIZU97)0h)—t—
BEIA =) —t—
N B
BEA~A—a
ARA—RARN—TY
B aF—~A—y
N E

& &t




